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o FUT FT BT FF 57 F9T-79 § GRT 7 16 T T97 20 &

Please make sure that the printed pages in this question paper are 16 in number

and it contains 20 questions.

o Jo7-7¥ H T &y @ G RF 78 FS T T A F O FI-YRaw & FEI-g8 G
gy

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o FYF J9T H TV TG Y& V7§ Yeer, 9T B B AT [7E]

Before beginning to answer a question, its Serial Number must be written.
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o FUT-Yiaw & & @l gi,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FTT-GRam & RFT FF T de T& Al g sraeaEagar & @ G fiar Faw T
PIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER U AT To FT-UH T Haed [i@ W To F SHARFT FIT-YH G I FE A T
frd sit dmfoas g9t @ Rl q¥ el Jre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YT J97 # FAT 37 @ g 78 GhAET & & [ 997-07 g9 7 @& 8, qOET & I 59
&g Fig 4 aar @hwre & R

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
T 39T -
(i) 577 7 37 20 597 &
(i) @ FoT SHfar &
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(iii) 597 G 1 & 1-1 3 % GRE (i-xv) TG 597 &

(iv) 797 G2 @9 T iy FTNT 597 & T Jede6 o7 2 Gl # 8
(v) o7 @10 G 17 T TG FTIT Fo7 & 7o 9% 597 3 G FT &1

(vi) 797 T 18 §20 7% HF FTIT F97 & T T F7 5 S 7 8

(Wil) TG F T & @ FE ARy 78 8 dHT S5 o ar del g F ofakd T Ha
e 7T &1 8 e H & g R T T A & AT T & J97 HA &l

(viii) BERIET & T # G Te & STRTE & T TGTIET AROE F T R o
& &l

(ix) & SEITH & Y [T G [T & T F FTET B G & -

c:3><108m/s u0=4TCX10_7TmA_1

1
47C€0

h=6.63x10"%Js =9%x102Nm2Cc2

e=1.6x10"19C m, =9.1x10731 kg

General Instructions :
(i) There are 20 questions in all.

(ii) All questions are compulsory.
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(iii) Question number 1 consists of fifteen (i-xv) objective type questions each of

1 mark.

(iv) Question Numbers 2 to 9 are very short answer type questions and carry
2 marks each.

(v) Question Numbers 10 to 17 are short answer type questions and carry
3 marks each.

(vi)) Question Numbers 18 to 20 are long answer type questions and carry
5 marks each.

(vii)There is no overall choice. However, an internal choice has been provided in
all three questions of 5 marks each. You have to attempt only one of the given
choice in such questions.

(viii)Use of Calculators is not permitted, if required you may use logarithmic

tables.

(ix) You may use the following values of physical constants whenever

necessary .

c:3><108m/s Lo =41x10~ Tm A~}

h=6.63x1034Js 1 —9x10°Nm2C~2
4n e

e=1.6x10"17C me =9.1x10731 kg
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gug - A

SECTION-A

[ TS 99 ]

[ Objective Type Questions ]

1. () frdl &M R gl & 999 &9 & &9 9o a9l JEER 98 aUEX &l S &M W

i T H T BT : 1
(A) 0° (B) 45°
(C) 60° (D) 90°

At a given place the horizontal and vertical components of earth are equal.

The angle of dip at that place will be :
(A) 0° (B) 45°

(C) 60° (D) 90°

(i) THM M T TN qUR" H A TR TG STARNG B ST o GO T B

A SAYHTT BT, S b dd HACK © 1
(A) TH (B) m/2
(C) = (D) =/4
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Two light waves of equal amplitude and wave length are super imposed.
The amplitude of the resultant wave will be maximum when the phase

difference between them is :
(A) Zero B) =/2

(€) = (D) =/4

(i) IR E qon B fed fogg e atn & wRy Rgg & @ Jeem & @ e g, @

frEqeesi T & g=Ror & e & orgfewr B 1
a) E B B
(C) B xE (D) E xB

If E and B represents electric field and magnetic field vectors of the

electromagnetic wave, the direction of propagation of electromagnetic wave

is along :
A) E B) B
(C) B xE (D) ExB
(iv) =1 & & Fraeer MR fava @98 &7 2 ? 1
() em (B)
(C) S (D)
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Which of the following has minimum stopping potential ?
(A) Blue (B) Yellow

(C) Voilet (D) Red

(v) Fpell O @1 & & fRq ae® 9 AION & S 3728 S § 1
(A) RN e
(B) o™X
(C) farvemmdt
(D) deeHieT

The best instrument for accurate measurement of emf of a cell is :
(A) Wheatstone bridge

(B) Ammeter

(C) A Potentiometer

(D) Voltmeter

228/(Set : D) P.T.O.



(8) 228/(Set : D)
(vi) et STRRIT &1 1 SF9M m T 36 W g AT 21 AR FHo1 V fawaax @ @fRa fFn
S, @ 399 Gt 35 qOTes B g g 1

The mass of a charged particle is m and has charge g. If this particle is
accelerated by a potential difference of V, then write the formula for the

de-Broglie wavelength associated with it.
(vii) HARER 1 AR 27 &AM GEAel ard & i i Boarsll @ orua faray 1

Calculate the ratio of the radii of two nuclei of mass numbers 1 and 27

respectively.

(vii) € A= 1T B =0, @ I T Wiford qReT & Y & 99 5T A - 1
A
B «— Y
If A=1 and B = 0, find the value of Y in the adjoining Logic circuit :
A
B «— Y
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(ix) & AR HOT & s§M= B g A FHT G I = ol T F41 J909 8 ? 1

The distance between two charged particles is halved. What will be the

effect on the force between them ?

(x) et gafe & aiiar 76 st X et & ® 2 1

On which factors does the capacitance of a capacitor depend ?

(xi) fpelt R 1 Ofq Ui 1S fIHT H GAT BEAA € oo | 1

The fall of potential per unit length of wire is called .............. .

(xii) AR TAEA G/ B PO AR 0¥, O b L TN GORT C & EN I~ Ffererd
X[ =, T X 2| 1

(xiii) Tk TATE G ST oo % gREeT 9T SMERa B 1

An a. c. generator is based on the phenomenon of .............. .
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(xiv) fE[q JeaE T PFa o WE 5x10°Hz § 109 Hz T 8, FEARN & .o | 1

The electromagnetic wave of frequency range from 5x10°Hz to 10°Hz are

called .............. .

(xv) F TR W & oI, Tt & T ..o, 1< ARURR 4 ARy 1

For total internal reflection, light must travel .............. tO i .

gug -
SECTION - B

[ ATy I0T 99 ]
[ Very Short Answer Type Questions ]

2. TR HY F NG ANG TiC q41 Fgere & Ty & &0 2

Draw circuit diagram of a wheatstone bridge and write the expression for the

balance condition.

3. Ha-gReT ¥ ST F GHEA & 7 2

What do you understand by Eddy currents ?
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4. UV-fE wd X-f5n & grog suam fafau 2

Write one use of UV-rays and X-rays.

5. SIS & gAUT @ A F GEHQ § 7 el B e e ? 2

What do you mean by polarization of light ? What is Brewster Law ?

6. SIH I S| &fd A MY 1 GHe & 7 S| &g A @ g ol d Y geiead
g7 2

What do you mean by mass defect of nucleus ? How mass defect related to

binding energy of nucleus ?

7. ST GOgT q AT T GHIA & ? TTHT T SEeLT i) 2

What do you mean by Nuclear Fusion ? Give one example of it.

8. ¥ p-n TFY A H M-I [REeH{l & &Y #, Td TNy fF Wy Hast @ Fd
dicedrelt & T @9 B 6 AR 2

Draw the circuit diagram of a half-wave rectifier using a p-n Junction diode.

Show wave forms of input and output voltages also.
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9. THS IESIH SIS HM & ! ¢ AMH g S H AT § LED & & "eyel @l &l
I BT 2

What is a Light Emitting Diode (LED) ? Mention two important advantages of

LED's over conventional lamps.
gig -9

SECTION - C
[ @ ST 9 |

[ Short Answer Type Questions ]

10. [l THEEH HERM S qHGW e & ToEh [hal fag W gy & dma E & [
ZECRLEA IR 3

Derive an expression for electric field intensity E near a thin uniformly charged

infinite plane sheet.

11. | 8 FBd & ? 0% 9] qeC GeIRA &l Wal & a9 K WRegdie & AT w1 geT
1 I =R BT TS T it 3

What is capacitor ? Derive an expression for the capacitance of a parallel plate
capacitor in which a dielectric medium of dielectric constant K fills the space
detween the plates.
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12. fqoewml &1 R qasQ & Jefies S @ g aeh 9 @l gerl B @ O 9Rey 7
IR Rl Rsemmdt 6 gIiiedr &9 SoR o el & 7 3

State the principle of potentiometer. Draw a circuit diagram used to compare the
emf 's of two primary cells. How can the sensitivity of a potentiometer be

increased ?

13. § TH[AGK AR S a9 T | 99 b [0 Foih hlaT OTEH O T & e ¥ 98 @
BN STd: T UFYER Sl GRWINT hifeTa) 3

Derive an expression for the force between two parallel straight conductors

carrying currents in the same direction. Hence define one ampere.

14. THQ TN 1 AGHOT F71 B & 7 BhsT d Ao w g i 3

What is interference of light waves ? Write formula of fringe width.

15. JH9l fOEq o9 WX fa9d & Seniel @l SHEsy 3

Explain effect of potential on photoelectric current.
16. eAufaed W & U o€-9g T & i § &1 aqd & dor 399 g9y fafag 7 3

What do you mean by half life and decay constant of radioactive substance and

write the relation between them.
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17. p-n € & FHEET § 89 a1 & Aew@qel SEeAel & AW [raw sEd e & (oTaed &)

ud AferenT fawe s aRia s 3

Write the names of two important processes formation of p-n Junction. Define

the depletion region and potential barrier in it.

guE - g
SECTION - D
[ &Y ST 9 |

[ Long Answer Type Questions ]

18. TYH Qeesil l THihA [T ARG SET qU1 SHH AT A HI G S Dol T
A gfefds @ gfte @l FAaH g0 W &9 B 5

Draw the ray diagram of a compound microscope and obtain an expression for
the magnifying power of the microscope when final image is formed at the least

distance of distinct vision.

STeE

OR

I & &Rl yE | Ha qen foet eafeeter St b foTg sl B ST i 5

In Young's Double slit experiment, deduce the conditions for obtaining

constructive and destructive interference fringes.
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19. % =@ 3l Teanmiied & A & 9o B 38 dieediel § 9 & Sl & ¢ Sfasdh
[CENCEIES] 5

Explain the principle of a moving coil galvanometer. How can it be converted

into a voltmeter ? Draw necessary diagram.

YqT

OR

RIS ® Ra SaEu AHifed = & qeEdr 8 sH6 HEEe S goH S| 5

State the principle of cyclotron. Explain its working with the help of diagram.

20. (a) TN T WEHE-ONh I TRAT i) 3

Define self induction and coefficient of self inductance.

(b) 10 B4 % I # Fec fogq aredh oo I B A IEH g7 Radd 10 A | 7A,
9x102s H&? 2

What e. m. f. will be induced in a 10 H inductor in which current changes

from 10A to 7A in 9 x 10%2s ?
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OR

T STEBHER & RSl T wEfEf & aue i 5

Explain the principle and working of a Transformer.
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